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Choose the correct option :

Statement 1:  Intranetis the global World

Wide Web.
Statement 2 : Internet is a private
network.
(A) Both statement 1 and statement 2 are
correct.
(B) Both statement 1 and statement 2 are
incorrect.

(C) Statement 1 is correct and statement 2
is incorrect.

(D) Statement 1 is incorrect and statement
2 is correct.

——_______ 1is an Application Software
available in Windows, used to create
drawing or edit pictures.

(A) Yahoo Brush.

(B) Adobe Reader.

(C) VLC player

(D) Paint.

Flow charts are planning tools, generally
used to represent :

A) An algorithm

B) A step by step process
C) Any logic

D) All of the above

You can put your device to sleep mode or
shutdown device or restart it by clicking on
in Windows 10.

) Power button

CIES

) Control panel

a

Enter button

(
(
(
(D) Backspace key

What is “Windows Defender” in Windows
10,7

(A) Real-time Firewall
(B) Real-time Antivirus

(C) Computer Game
(D) Recovery Software

& foreheq 94 -

KT 2 : G U&F =7 ===

ny

(A) THH 1R 5= 25 Tal 2|

(B) T¥ied 13K 555== 2= od & |

(C) A1 T ETIATTA2TA &

(D) oTed 1 7Ted & R g9aed 2 58 =

TS H 3ueey wedEes ==
T S Tt &l 99 o1 9Uied & § 39 Sl
gl

(A) TN

(B) TEM@ =X
(C) .U =R
(D) de

Al ?I'I'QH (Flow charts) ISl 991 =1 T
SYRIO B, € M AR W = w1 v
(A) TMREA (algorithm) =
(B) “heH X e Hisha

(C) Tl ot ok @1
(D) =T |l
A I9H 9= 10 fesara =i EL

forTer F4F %A HIE (sleep mode) & 52234
(shutdown) a1 =T (vestart) T e =

(A) = 529 (Power button)

(B) @hvgid I9a (Control panel)

(C) T &7 (Enter button)

(D) SR (Backspace key)

faes 109 ' faen fethet =g ?

(A) THA-2=H FREETA (Real-time Firewall)

(B) TEc-zEa ddEmd

(Real-time Antivirus)

(© FE T
(D) fERadl Aiwas (Recovery Software)
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Which type of malicious attack modifies the
original message in some manner ?

(A) Active attacks

(B) Passive attacks

(C) Dynamic attacks

(D) None of the above

__________ bar shows the name of the
document in MS-Word.

(A) Title

(B) Status

(C) Timeline

(D) Name

Raw facts such as letters, words and sounds
are called :

(A) Scanner

(B) Data

(C) Program

(D) Process

The topology with highest reliability is :
(A) Bus topology

(B) Star topology

(C) Ring topology

(D) Mesh topology .

option is used to insert ghosted

text behind the content of the page in

MS-Word.

(A) Page color

(B) Watermark
(C) Margin

(D) Hyphenation.

Which is an example of Augmented
Reality ?

(A) MS-PowerPoint

(B) MS-Word

(C) MS-Excel

(D) Google Glass

The keyboard shortcut for Undo operation
18}

y o Cral+U

Shift+Z

Alt+U

Ctrl+Z

=

B

—

(
(
(
(

CIG)
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11.

12.

for weRm =1 gufaATgut 279 (malicious attack)
fepet Tier & o1 TRW 1 HNfHE w5 ?
(A) TfHRa dAH

(B) Hfda st

(C) SEAIHE ieh

(D) R A FE off

TH.OH.-98 |

T e 2|

(A) <ged (Title)

(B) ¥eH (Status)

(C) <rRAAET (Timeline)
(D) ¥ (Name)

(AR

(A) T

(B) S

(©) EpiL (Program)

(D) Ty (Process)

Ty favea Srdreisi (topology) %

(A) o s

(B) R et

(C) T Zrdretsit

(D) B ErArersi

T g8 | formRea Us1 1 W
F I Tkl TS (ghosted text) HiFHTewd L
o forg woim foran ST &

(A) TS %l (Page color)

(B) WIEI-HER (Watermark)

(C) ™IS (Margin)

(D) EE®AYHE (Hyphenation)

f= # ¥ dafda arxafasdl (Augmented
Reality) 1 &0 & ?

(A) THTE-oRTRE

(B) TH.UH.-TE

(C) UH.TH.-THA

(D) Tt e E

3Mg (Undo) 3TTRYM % foTT Hiare wiieene ©

IR W SIS ol

(A) Ctrl+U
(B) Shift+Z
(C) Alt+U
(D) Chl+Z
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refers

paragraph from left, right, or both margins.

(A)
(B)
(©)
(D)

If the displayed system date and time is 14.

Line spacing

Alignment

Indenting

Bulleted and Numbered List

wrong, you can reset it using :

(A)
(B)
(©)
(D)

Calendar
Read file
Write file
None of the above

is usually used to perform the 15.

“traffic directing” functions on the Internet.

(A)
(B)
(©)
(D)

A new presentation can be created from : 16.

(A)
(B)

(©)

(D)

WiMAX stands for : 17.

(A)

(B)

©
(D)

Which of the following is NOT a  18.

Hub

Switch
Bridge
Router

Blank Presentation
From Existing Presentation

From Design Template

All of the above

World Wide Maximum

Worldwide Interoperability for
Microwave Access

WiFi Maximum
World information in Maximum

characteristic of Pen Drive ?

(A)
(B)
(©)
(D)

It is portable device.

It is connected through USB port.

It is an example of Optical Drive.

It is very easy to disconnect and carry
anywhere safely.

to moving away 13.

YT < ‘c{ﬂf{') E‘iT'i'?IT 21w (margins) S|

=W IR 3 Hefifg e ¥

(A) Mg FET (Line spacing)

(B) TeETHE (Alignment)

(C) T=f= (Indenting)

(D) TeieE #R Foe fere (Bulleted and
Numbered List)

o foeen 1 ariw @it T e €, o 5
fray 39 ¥ TE FHL TFd 2 7
(A) Feigl (Calendar)
(B) e WiEd (Read file)
(C) Vs TR (Write file)
(D) SH G HE 72 |
T AR T g2e W A
A A" w0 % o s TR S 2
(A) B (Hub)
(B) T (Switch)
(C) fo<f (Bridge)
(D) ®X (Router)

7 | & 7% UE(d (presentation) EAkCEIRIES|
TohRdl ©
(A) foa wegia ¥
(B) HIS[El TG H
(From Existing Presentation)
(C) feoma Tz |
(From Des1gn Template)
(D) SH |l ¥

TR (WIMAX) 1 901 918 €

(A) g€ arzs AfedEd (World Wide
Maximum)

(B) I TGS FIAMfAfeid R nrsﬁ-aa
T (Worldwide Interoperability for
Microwave Access)

(C) TEFE HieEAH (WiFi Maximum)

(D) ace TARTHIA 34 AfFaHH (World

information in Maximum)

=98 9 U9 oEa i fova 7 €

g Ureee fearss 2|

Ig 9T, 9 F 7 F g
g 3iffedhel ggd 1 TF SeRi0l ¢ |

= fewarree {1 9ga 3T ¢ a1 gUerd
w9 § FHE o o S ST HRa €

S

~—r

EGICT

~—
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Which keyboard shortcut is used to rename
the selected item ?

(A) F2

(B) F3

(C) F4

(D) F5

When you simply close the unfinished email,
then the email can usually be saved under
(A) Spam

(B) Junk

(C) Drafts

(D) Thrash

Which application software is usually used
to view the PDF file ?

(A) Microsoft Outlook

(B) Adobe reader

(C) Microsoft firewall

(D) Facebook

is a discussion or informational
website usually consists of discrete entries
called “posts”.
(A) Firewall
(B) Antivirus
(C) Facebook messenger

~ (D) Blogs

23,

24,

"25,

A is a named location on a disk
where files are stored.

(A) Folder

(B) Pod

(C) Version

(D) File Group

E-mail stands for :
(A) Electronic mail
(B) Excess mail
(C) Education mail
(D) Express mail

In MS-Excel charts, actual value of the data
point is called

(A) Legend

(B) Gridlines

(C) Data Labels

(D) Data Series

Nov., 2016
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FITH FHIES Videhe o1 A 3M52H T AH
G o T g fohan imar § 2

(A) F2

(B) F3

(C) F4

(D) F5

Y S8 ST 3-Tat g H ©, T §-Hel AR
™ H ¥4 (saved) BRI B

(A) ¥H (Spam)
(B) S (Junk)
(C) T (Drafts)
(D) 9w (Thrash)
oY TR HITeaeR &l TG W1 0.E1.U.
el @A % fore wEm fan S @2
(A) WEHRMETE 3T
(B) WS {rex
(C) WEHET HEEd
(D) wETH
AR W U ==l 4l qum
e Bt § SR s fateE (discrete
entries) ﬁ%%%ﬁ%ﬁﬁﬂaﬂﬁaﬁ%t
(A) Wa
(B) TamRy
(C) rEeF HE
(D) =Ard

_ fe e ke wE § SR wEd
Hafed T TR §
(A) TIEST (Folder)
(B) T (Pod)
(C) =S (Version)
(D) ™Isct U (File Group)

TH. T, - T =12 H, 221 55 (point) & Srafash
Tod el &I & 7

) Sig (Legend)

) TUeemE¥ (Gridlines)

) 2 oeed (Data Labels)

) €& IS (Data Series)



26,/

27,

28,

29/

31,

: are small pictures that represent
files, folders and programs.

(A) User
(B) Control
(C) Icon
(D) Display

In MS-PowerPoint, we can control the speed
to move from one slide to another during
slide show using tab.

(A) Transition
(B) Animation
(C) End

(D) Position

Choose the most appropriate correct

option :

(A) Caps lock, Num lock and Scroll Iock
are toggle keys.

(B) Ctrland Altkeys are combination keys.

(C) Both option (A) and (B) are correct.
(D) None of the options are correct.

The process of copying data from the
memory location is called :

(A) Booting
(B) Burning
(C) Reading
(D) Writing

Which of the following is NOT the
advantage of DBMS ?

(A) Data dependence

(B) Efficient Data Access

(C) Data security and Integrity
(D) Reduced Development Time

What is the shortcut key for slide show in
MS-PowerPoint ?

(A) F5
(B)' F1
(C) F12
(D) F8

26.

27,

28.

29,

30.

318

TN T Hfaffe w5 §

(A) TR (User)

(B) &UErE (Control)

(C) eMEHM (Icon)

(D) fe&=1 (Display)

TN, TH. -laRaiEe ¥, #m B
SN Tk TEE W F 20F TF TRE 9 SEdl
TR EAIGNT A 1 7T 61 450 F Tohd §
(A) ZSI9M (Transition)

(B) THYM (Animation)

(C) TS (End)

(D) IS (Position)

e 3T Wel fahed T

(A) FH T, T @i 3R wWhiar AF 27
(toggle) F=il 2 | .

(B) Ctrl 3R Alt il Bl HITeA (combination)
il B |

(C) =i faerey (A) iR (B) Wl &1

(D) 3w fasredi & & #7875 &

i ®H § 22 FIq F F1 9FT 1 Fa

A E

(A) - FfET (Booting)

(B) @ (Burning)

(C) dfen (Reading)

(D) WEfET (Writing)

frafafed 3 @ sR-w1 9. eE. (DBMS)
EaRGI R F i

(A) =2 fasdrar

(B) F¥IA eIel A (access)

(C) =rer Hiam iR swEear

(D) =H fawm gm

TH.TH. -Wladge (MS-PowerPoint) H wIES 91
o forg wiidene it =1 2 2

(A) F5

(B) F1

(G}« Fiz

(D) F8
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The light sensing device that reads printed 32

text and graphics and then translates the
result into a form the computer can process
is called a(n) :

(A) Optical reader

(B) Bar code Scanner
(C) Plotter

(D) Optical Scanner

To view the web page, the user need to enter 33.

the website address called :
(A) Uniform resource locator
(B) Email address

(C) Postal address

(D) MAC address

In MS-Excel, tiny charts embedded in a cell 34.

that give a visual trend summary alongside
your data are -

(A) Embedded charts
(B) Sparklines

(C) Chart styles

(D) Borderline

Which option allows user to adjust the look 35.

and feel (like desktop background, theme
etc.) of computer ?

(A) Clock, Language, Region

(B) Programs and Features

(C) Appearance and Personalization

(D) Control and Programs

-00o0-

2016

Tch o5 EEiE=n fear=g (light sensing device)
Sifer fies Tz au Uifthed =l Ug oY 3§ TH
® T geord ¢ 99 FEgel g wey fea S
ek, IH FEd © ¢

A) dffiesre T (Optical reader)

B) W @IS T (Bar code Scanner)
C) T (Plotter)

D) 3iffieshdl H (Optical Scanner)

A~ S S

e U9 2@y o fau, SYAnTERTl o1 dedEe Il
TSt T B © o Fed ©

(A) FFTRiH = arenet
(B) EHS Tl

(C) =& T

(D) H& (MAC)

.- W P IRY TH 99 ° Tees
Bid ¢ Siifeh 399 Y TS <3 o WI-TY 2
i off g9 B -

(A) TUMISE = (Embedded charts)
(B) ¥EheligH (Sparklines)
(C) =T ET3eH (Chart styles)
(D) @Ew@mEd (Borderline)

YT %1 TSR FHTENS F SR HH *

Hegd (S TERed Sehuss, ofi gae) e

¥ fore = a1 faeey oAl S 22

(A) Al oires, U9 (Clock, Language,
Region)

(B) giaTeg Y ®mIEH (Programs and
Features)

(C) erdrE 311 gAY (Appearance

and Personalization)

(D) wvgid I YIUTH (Control and
Programs)

-00o0-




4,  Four alternative answers are mentioned for
each question as (A), (B), (C) & (D) in the
booklet. The candidate has to choose the
most appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

For Example :

Question :

. ® @& ©O ©
2 @ ® @ O

Illegible answers with cutting and over-writing
will be cancelled.

5. In case the Candidate does not fill the
appropriates circle in the Answer-Sheet
and leaves blank ‘Zero” mark will be given.

6. The candidate has to mark carefully as per
direction the answers on the
OMR Answer-Sheet with black or blue ball

point pen only.

7. The examinee shall hand over OMR
Answer-Sheet to the invigilator and can
take carbon copy of the OMR Answer-Sheet
and question booklet with himself.

8.  Write your Roll Number and other required
details in the space provided on the title
page of the booklet and on the OMR
Answer-Sheet with ink pen or ball pen. Do

not use lead pencil.

9. To bring and use of log-book, calculator,
pager & cellular phone in examination hall
is prohibited.

10. All the questions are bi]jnguél. Incase of any
discrepancy the question in English shall be

treated as correct.

4., ye-yf § TEE TEA % 9R wedifed S €
(A), (B), (C) & (D) | witemeff =7 =i foreedt

Y TF FE ITR F I TS0 OMR T-9E

H frderqer fafea ®{1 ST 1 sTR-vie 4§
Frafed g9 e § 7 YR A ©

SeTETuTTY
L

. ® @@ © O
2. @ ® O
Tfaq SO a1 T8 Se fS=8 e a1 agen T g,
L o3 S|
5. afg wlene smER-vite o I Tl ®
AT & oI STFE-YiE 1 wiell S8 S §, @
Rl o HERE RIS DRI

6. el = USHl & A OMR IEI-IIE T
Fae Fe AT Aol 9id @RS 99 ¥ FASImgER
Jiferd & B

7.  udiemelt @t ifad w9 # wien vad sied
¥ gd OMR 3T-eR-¥ite fiteren o g
HAAT B GeT OMR 3TRE-91E ohi hTaA
ufe e TyA-qfeRT 30 |IeT & 51 Tehd! & |

8.  WEA-Yfehl % TETE W ad OMR -9
o Fuifa T | AR qur o7 foeR
I o7 et @Ee U 4 & o | U R wEnT |
=l

9. e el H CllT-o, Fegerey, TR Ao Heger
FH A S A SHE SUANT LA afeid B

10. wfi v fpurfes €1 =fe forelt wea-gfkasnt
SIS deon Tt ergane | =g firar 9 Sl €
a1 STisT Sigene € | g
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